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QUESTION 1

An NSX administrator is planning to deploy a multi-tier routing topology in their NSX-T Data Center environment to
provide north-south connectivity for the VMs. 

Which routing component must be deployed? 

A. Tier-1 Gateway 

B. Edge Services Gateway 

C. Tier-0 Gateway 

D. Layer 2 Gateway 

Correct Answer: C 

 

QUESTION 2

What are three NSX Manager roles? (Choose three.) 

A. cloud 

B. manager 

C. zookeeper 

D. policy 

E. master 

F. controller 

Correct Answer: BDF 

 

QUESTION 3

What are two types of supported IPSec VPNs in NSX-T Data Center? (Choose two.) 

A. policy-based IPSec VPN 

B. Layer-7 based IPSec VPN 

C. route-based IPSec VPN 

D. Open source based IPSec VPN 

E. SSL based IPSec VPN 

Correct Answer: AC 
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QUESTION 4

Which two choices are solutions of the NSX portfolio (Choose two.)? 

A. vRealize Automation 

B. NSX Distributed IDS/IPS 

C. vRealize Network Insight 

D. Tanzu Kubernetes Grid 

E. NSX Service Mesh 

Correct Answer: BE 

 

QUESTION 5

An NSX Administrator has created a segment named WEB-LS from the NSX UI and noticed the segment is not realized
on the KVM Transport node. 

What are two possible causes for this issue? (Choose two.) 

A. The KVM Transport node has hardware issues and will not realize the WEB-LS Segment. 

B. Since the Compute Manager is disconnected in NSX UI, the WEB-LS segment will not be realized on the KVM
Transport Node. 

C. The virtual machines running on the KVM Transport Node are connected to the WEB-LS segment, but are in
Powered Off state. 

D. The virtual machines running on the KVM Transport Node are not connected to the VDS. 

E. The virtual machines running on the KVM Transport Node are not connected to the WEB-LS Segment. 

Correct Answer: BE 
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